Pracovni list - s€itani a odcitani celistvych vyrazu

A, 2x+3) + B5x—T)=

B. 2> +3a—6)+(—a’—3a+9)=

C. W-7-0O-2=

D. (2ab’-9a’b—-3ab)—(2ab—5a’b—8ab?)=

E. Gx?=(8x*-7x)—(2-9x)=

F. ~m—-1)-Qm+n)-3n+@m-5)=

G. 5x—[2x—(Tx—4)]—4=

H. 2x— {3x—[4x— (5x— D]} =
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Pracovni list - s€itani a odcitani celistvych vyrazu - feSeni

A 2x+3) + Sx—7)=2x+3+5x—-T7=Tx—4
B. 2a?+3a—6)+(-a’-3a+9)=2a*+3a-6-a’~3a+9=a’+3
C. Wy-7)-(9-2)=4-7-9+2y=6y—16

D. (2ab*—9a’b—3ab)— (2ab—5a*b—8ab*)=
=2ab {2} —9d {2}b—3ab—2ab+5d {2}b+8ab {2} =10ab {2} —4d {2}b— 5ab

E. (5x?—(8x*—7x)—(2-9%)=5x"—8x2+7x—2+9%=3x>+16x—2
F.
-m—=1D)-QCm+n)-3n+(@m—-5)= —m+1-2m—n—-3n+dm—-5=m—4n—4

G. 5x—[2x—(Tx—4)]—4=5x—[2x—Tx+4]—-4=5x—-2x+7x—4—-4=10x—8

Ho 2x—83x—[4x—(Sx— D]} =2x—{3x—[dx—5x+ 1]} =2x— {Bx—4x+5x— 1} =2x—3x+4x—5Sx+1="2x+1
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